Section 2.7: Maplet Exercises Friedman and Kasiski Test 


Due Tuesday, March 26th in Class. Do Problems 1, 2, 3, 4, and 5. The work for Problem 3 should be handwritten on paper. Problems 1, 2, 4, and 5 should be submitted as a Microsoft Word file. To show your work you performed to complete each exercise using a Maplet in Microsoft Word, copy and paste your Maplet window into your Microsoft Word page. On Microsoft Windows based machines, this can be accomplished by clicking on the Maplet Window to make it the front window and then pressing and holding the Ctrl Alt PrtSc keys in sequence (some machines require Function Alt PrtSc). This places the Maplet Window into the copy buffer. On Macintosh based machines, this is accomplished by clicking on the Maplet Window to make it the front window, pressing and holding the Command–Ctrl-Shift-4 keys in sequence, then pressing the space key, and then clicking the Maplet Window. This places the Maplet Window into the copy buffer. You then paste the Maple Window normally into Microsoft Word Document. Hand in your handwritten problem for # 3 on a regular sheet of paper. Problems 1, 2, 4, and 5, can handed in by submitting them in the Desire2Learn drop box.
1. Using the Vigenere cipher Maplet, encipher the message
THE MIDDLE PART OF OCTOBER CAN BE BEAUTFUL IN THE NEW RIVER VALLEY BECAUSE OF THE NICE WEATHER AND THE LEAVES CHANGING INTO MANY BEAUTIFUL COLORS

using the keyword FALL .

2. Using the Vigenere cipher Maplet, decipher the message

PNZMA PJPCV DKSCT TFVAA TTSRX ZTFTI IZNER IYTYH OPHIJ DKGMS RZFAO LIHVL HUCGI UQAPY GKNKU TFTRV KNEKP NPXEC CKIVG OTFTR V
that was enciphered using the keyword PARKWAY .

3. Calculate the index of coincidence for the following ciphertext by hand and use it to estimate the keyword length. (Use the Friedman Maplet to get the letter counts but calculate the index of coincidence and keyword length by hand using a calculator). Use Example 7 and Example 8 from your Section 2.7 class notes as a guide.

SCZOP COIFF BKXWZ OTFZV NCSMV TVBJF VUEXR QCIPF DFBIU JBQLV GWOWK BBAWV DCKHD PJFIJ UVBRW PIDLK NFQME UVBXY JFAQF WWBEI VGPMR OWKXY FTLYI UVJSM JSXRU UVBRR OOJEK FIOME UVBPR THJSM JSQLV TSJSM JSPXL SBBHJ ZZSIJ USOWK BZISE FWKXF BKBPC LBLAE BQQSI

4. Use the Friedman Maplet to calculate the index of coincidence for the following ciphertext and use it to estimate the keyword length.

UZRZE GNJEN VLISE XRHLY PYEGT ESBJH JCSBP TGDYF XXBHE EIFTC CHVRK PNHWX PCTUQ TGDJH TBIPR FEMJC NHVTC FSAII IFNRE GSALH XHWZW RZXGT TVWGD HTEYX ISAGQ TCJPR SIAPT UMGZA LHXHH SOHPW CZLBR ZTCBR GHCDI QIKTO AAEFT OPYEG TENRA IALNR XLPCE PYKGP NGPRQ PIAKW XDCBZ XGPDN RWXEI FZXGJ LVOXA JTUEM BLNLQ HGPWV PEQPI AXATY ENVYJ EUEI














5. With the Kasiski Maplet to apply the Kasiski test to estimate the length of the keyword used to produce the following ciphertext. Then use the Friedman Maplet to calculate the index of coincidence and use it to estimate the keyword length. Compare your results.

ANIIX GFXVH XCGZD CWYTU KLZKW HFXSG FARXX GLBRH PTWLI IXGFX VHXCG ZDCWY TUKLZ KWCJY OBWHC CCCSF ZDPBO BPTCG FWVXZ LOUJK PRLCE KCCKO CXDRZ YPAPP WQFVV GFANM EFLBV MYQLL LQPLL NYIJZ MCCXE FWCEW EPMGV RERZY POYCO QYICC WPVVJ RZCEK HYKNY IJIFY NLZUW PVVJR ZCEKH MJEVH EFWLV ALQFI VRRGF YVVTL NICZP BWRTI AREUP FPFWQ RWHMJ EZRRR ZYIIE MG

